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General Instructions:

[
.5

All questions are compulsory.

The question paper consists of 31 questions divided into four sections A, B, C and D.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

There is no overall cholce in this question paper.

Use of calculator is not permitied.

WTE-H [ SECTION-A

W w1 A wEw W s
Question numbers 1 to 4 carry one mark each.

Hi36)™2 = w -
Find the value of J{36)72 .

TREE B : 2 - 4x+ 4. 1
Factorise : ¥4 - 4x+ 4.

s firts e 1 9 sl 0 3l 0 W) ¥E wER wiTss e § i wwie s Wil uw g w0
¥ wu, g e g ol g F T F e w12

A transversal | intersects two lines w and n such that a pair of alternate interior angles is
equal. Then, what can you say about the lines m and n?

T TR T W ST 64 om?, SR 12 em &, W THiw wdE =1 S T S 1
If the area of & Farallelclgmm s 64 |:m=, base is 12 cm, then find the altitude of the




parallelogram

WUE-] / SECTION-B
v e s ® 108 vaE w23 €

Question numbers 5 to 10 carry two marks each.

? 132 #1 B & we ¥ e S, o p o q pilw Eaw g . o
9

Fxpress |32 in the form of B where p and q are integers and o = 01
Y

5 m 1 7% WA 70 S fEE - o0 20+ 3m O TEEEYE (4 2) B W
Find the valugof m for which (x+ 2) is a factor of —x%+ 2x +3m,

7 1M AR 1 w1 weE T ) o vl w9 2 kg 7Y o R, T S T e w1 e ik
wqF gfeEE ®i st e

Ram and Ravi have the same weight If they each gain weight by 2 kg, how will their new
weights be compared 7 State Euclid's axiom used.
g fe Ty i #, 5fg AB|ICD B, T x %1 W 9w wifE

-l g,
157
E<)z
"¢ F D
In given figure, if AB|/ICD, find the value of x ;
157
EQx

- #—

C F D
9 srgfa B, fiigad A, B, C 3iR D & Friwiw S .
¥

i
From the figure, give coordinates of points A, B, Cand D
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Side of an h‘tlli]ﬂ-ml triangle is 16 m. Find its area using Heron's formula. {Use ﬁ =173
).
WUY-H / SECTION-C
mEFEI A nd s s
Question numbers 11 to 20 carry three marks each.
11 ad Wi 335 - J15 + J200 - 50, 3
Simplify : 3445 — J135 + 200 - 50 .
12 N5-2 _ JB5+2 3
W e — 3
: S5=-2 J542
lifsg = =
e T _
13 o s e+ e+ sw R s A £ 3
Prove that 4x* + 12x7 + 15 has no zeroes.
14w ey wdnfie = awEm w0 e, (9s) am wif 3
Using a suitable identity, find (38)3.
15 AR e ap, co SR er, TN T weiy SR e R Mg o e € L oo uE T 3
i wifa |

Three lines AB, CD and EF meet at a point O, forming angles as shown in the figure. Find the values of
X ¥ randu

Page 3of 7




F
16 fas 8, ABJCD # 12 %1 9 TR HIRA)
A C

‘.lm“D

P
In the figure, AB[ICD. Find the value of x.
A C

1007 D

17 ﬁﬂimﬁlﬂrﬂ#ﬁﬂﬂﬂm:
C

_ R D
18 fﬂ"ﬁrﬂ.ﬂ‘ltm-'=cnm:aFE=.:anti'|fh=1ﬁm‘Fﬂ=ErnEntl
B
A C

In the figure, if AF=CD and LAFE= £CDE, prove that EF=ELL
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18 wwim wm A fagsl AL 6) B, 4) CF 0, D(-2 -2, Ed, -1), F2-3), 3
Gi—1, 1) #8 1i{- 2.~ 3) =) Foufirat Firuifia <ifag

Locate the points A{l, &), B{0, 4), C7, 0), D(-2 -2), E@ -1} F@Z-3)
G{~- 1, 1) and H{—2,-3) in the cartesian plane.

20 feet B oW O T F 20 om, 72 om SR 78 om B ol @@ @@ oeem B e 3
waim T W § 1 5o T, 740 ¥ om? @1 R S % Tt o 3 v
A right angled triangle of sides 30 cm, 72 cm and 78 cm is used for an advertisement by a
company. How much company will pay for it at the rate of ¥ 40 per cm? 7

WUE-7 / SECTION-D

s ndAnd s dasw
Question numbers 21 to 31 carry four marks each.

21 ﬁ:;zTﬁEﬂJE%mmmml 4
If x=2+ /3, find the value of Iz-i-;l!-

22 e w2 451 -8 YTE + 15352 + V25 - §i6 4
Simplify : 2 481 - 8 3716 + 15 332 + J255 - ¥16

a3 'Iﬁ'nlf.r]=1|"'—-hl+Jr+5",ﬁﬂmfﬁpﬂi]-ﬂ&mlﬂﬂ‘ p{x]tﬁ“l‘l‘ﬂ"llﬂﬁﬂ,l 4
H pix) =" — &x* + x + &, then show that p{3) = 0 and hence factorise pix).

24 W 4 -2+ 0+ 10 W o+ 2 A owm gifag o wra dewm o Seem win W v s o
T Hf |
Divide the polynomial x'+ 3r° = 2x" 4+ 14 10 by x+ 2 and verify remainder by using remainder
theorem,

25 TUEEE WEE W we S e e W w0 g 0 - 5l -+ 3 F s Fife E
State Factor theorem. Using Factor theorem, factorise x? = 3 = x4 3,

26 afg el y 8 v sk de w R R o+ =7 My =s B At s at' W 4
o 7R R
If xiand y are two positive real numbers such that 9x2 + 447 =97 and 1y =6, then find the value
of 275* + 64y, )

27 e famrer & famdt well w1 s & foag R el Yol ¥ am o9 % fa st F e o o

T € phn # AaBC Y Y A 0 W T T 1 TR B0 =6+ 2, LBAC=3x +15, A9
ZaBc=2x -1t MamTR T2
T W F 5 o e gy e el e e wm e s 62
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Students in a school are preparing flags as shown below for a rally to make people aware for saving
water, In the diagram below, AABC is shown with AC extended through point D.

L
/BCD = 6x+ 2, ZBAC=3x + 15, and LABC=2x — 1, what is the value of x ?
State the property used to solve this problem.
what value are they exhibiting by doing so 7

28 # e smpfa o am =an | po W1 e T v e on W wen fag w81 TR wifag po - a4
;P-m: ¥ form T men M N7 WA & wffie afe i o T wen Tafer
S Q

N

R
In the given figure, QM =0N, M is the mid-point of PQ and N is the mid-point of QR Show that
PO - QR State which aslem you use here. Also ghve two more axloms other than the awiom e in

the abowve situation.
¥ Q
N
IR
9 g & Ay fm, 21 =2 +y), L4=(x+2y) A sh=y+pb M oI 2F WA 4
wifer )
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) 4
5 K6 )
BT? 4
In the figure, if jm, Z1=(2r+y)’, Ld={r+2y)l* and Jo=(3y+20), find
L7 and £8.
n
y
+ 1
4
5 L6
- +m
8

30 e AARC TF FEEEE e &, feed AB=AC W g3 BA W1 D TF T TR T T i R4
Ali=ADE @ firz Fifay fF apcD wF wEm P k)

If AABC is an isosceles triangle with AB=AC and side BA is produced to 13 such that
AB=AD, prove that ABCD is a right triangle.

1 2w B ABC 3t DRC T W &m BC W w3 v A SR D, pCF WA AR
AD ¥R T BC ) P Wi won &, o wwi R
(i) AABD z AACD
fi) AP, BC % v ST €1
ABC and DBC are twao isosceles triangle on the same base BC and vertices A and D an the
same side of BC. AD is extended to intersect BC at T, show that
1) 4ABD = AACD
(it) AP is perpendicular bisector of BC.

=pa o=
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